
Product 
part no.

Component 
parts

ZP3E - T q w m - e(A10/A16/AL14/AL16)

Pad diameter Connection thread (Male thread)

Pad form

Symbol
qPad diameter symbol

32 40 50 63 80 100 125

ASeal washer
M10 x 1 ZP3EA-SW10 —

M16 x 1.5 — ZP3EA-SW16

BHolder

w
P

ad
 f

o
rm

Flat type with
groove UM

ZP3EA-H1A ZP3EA-H2A
ZP3EA-H3A ZP3EA-H4A ZP3EA-H5A

Bellows type with
ribs and groove BM ZP3EA-H3A ZP3EA-H4A ZP3EA-H5A ZP3EA-H6A

CPlate

Flat type with
groove UM

ZP3EA-P1 ZP3EA-P2
ZP3EA-P3 ZP3EA-P4 ZP3EA-P5

Bellows type with
ribs and groove BM ZP3EA-P3 ZP3EA-P4 ZP3EA-P5 ZP3EA-P6

DSet screw ZP3EA-A10 ZP3EA-A16

EMale
thread 
adapter

e
 C

o
n

n
ec

ti
o

n
 

th
re

ad

M10 x 1 A10 —

M16 x 1.5 A16 —

M14 x 1 AL14 ZP3EA-TAL14 —

M16 x 1.5 AL16 — ZP3EA-TAL16

FMounting nut
(Single unit)

M14 x 1 ZPNA-M14 —

M16 x 1.5 — RBQ16J

ZP3E-T(32 to 50)(UM/BM)m-A10
ZP3E-T(63 to 125)(UM/BM)m-A16

ZP3E-T(32 to 50)(UM/BM)m-AL14
ZP3E-T(63 to 125)(UM/BM)m-AL16

EMale thread adapter
(With mounting nut)

DSet screw

CPlate

BHolder

ASeal washer

E

F

A

B

C

D

A

B

C

D

Adapter Assembly: Vacuum Inlet Direction Vertical  T Type/ZP3E-T

Pad material

Mounting nut

High Rigidity Pad ZP3E Series

Mounting Bracket Assembly

Standard Type

237A



Product 
part no.

Component 
parts

ZP3E - T q w m - e(B8/B10/B12/B18)

Pad diameter Connection thread (Female thread)

Pad form

Symbol
qPad diameter symbol

32 40 50 63 80 100 125

AStopper ZP3EA-S1 ZP3EA-S2

BHolder

w
 P

ad
 

fo
rm

Flat type with
groove UM

ZP3EA-H1B ZP3EA-H2B
ZP3EA-H3B ZP3EA-H4B ZP3EA-H5B

Bellows type with
ribs and groove BM ZP3EA-H3B ZP3EA-H4B ZP3EA-H5B ZP3EA-H6B

C
F

em
al

e 
th

re
ad

 p
la

te

w
P

ad
 f

o
rm

Fl
at

 ty
pe

 w
ith

 g
ro

ov
e

UM

e
C

o
n

n
ec

ti
o

n
 t

h
re

ad

M8 x 1.25 B8 ZP3EA-PT1-B8 ZP3EA-PT2-B8 —

M10 x 1.5 B10 ZP3EA-PT1-B10 ZP3EA-PT2-B10 —

M12 x 1.75 B12 — ZP3EA-PT3-B12 ZP3EA-PT4-B12 ZP3EA-PT5-B12

M18 x 1.5 B18 — ZP3EA-PT3-B18 ZP3EA-PT4-B18 ZP3EA-PT5-B18

B
el

lo
w

s 
ty

pe
 w

ith
 

rib
s 

an
d 

gr
oo

ve

BM

M8 x 1.25 B8 ZP3EA-PT1-B8 ZP3EA-PT2-B8 —

M10 x 1.5 B10 ZP3EA-PT1-B10 ZP3EA-PT2-B10 —

M12 x 1.75 B12 — ZP3EA-PT3-B12 ZP3EA-PT4-B12 ZP3EA-PT5-B12 ZP3EA-PT6-B12

M18 x 1.5 B18 — ZP3EA-PT3-B18 ZP3EA-PT4-B18 ZP3EA-PT5-B18 ZP3EA-PT6-B18

CFemale thread plate

BHolder

AStopper

A

B

C

Adapter Assembly: Vacuum Inlet Direction Vertical  T Type/ZP3E-T

Pad material

238

High Rigidity Pad
Mounting Bracket Assembly  ZP3E Series

Standard Type

Z
P

3E
M

o
d

el
S

el
ec

ti
o

n
H

ig
h

 R
ig

id
it

y
F

la
t 

T
yp

e
w

it
h

 G
ro

o
ve

Ba
ll J

oin
t, F

lat
 Ty

pe
wi

th 
Gr

oo
ve

Be
llo

ws
 Ty

pe
wit

h R
ibs

 an
d G

roo
ve

Ba
ll J

oin
t, B

ello
ws

 Ty
pe

wit
h R

ibs
 an

d G
roo

ve
Co

ns
tru

ct
io

n
Pr

ec
au

tio
ns

M
o

u
n

ti
n

g
B

ra
ck

et
A

ss
em

b
ly



Product 
part no.

Component 
parts

Symbol
qPad diameter symbol

32 40 50 63 80 100 125

ASeal washer
M10 x 1 ZP3EA-SW10 —

M16 x 1.5 — ZP3EA-SW16

BHolder

w
P

ad
 fo

rm

Flat type with
groove UM

ZP3EA-H1A ZP3EA-H2A
ZP3EA-H3A ZP3EA-H4A ZP3EA-H5A

Bellows type with
ribs and groove BM ZP3EA-H3A ZP3EA-H4A ZP3EA-H5A ZP3EA-H6A

CPlate

Flat type with
groove UM

ZP3EA-P1 ZP3EA-P2
ZP3EA-P3 ZP3EA-P4 ZP3EA-P5

Bellows type with
ribs and groove BM ZP3EA-P3 ZP3EA-P4 ZP3EA-P5 ZP3EA-P6

DSet screw ZP3EA-A10 ZP3EA-A16

E
A

d
ap

te
r

e
 C

o
n

n
ec

ti
o

n
 

th
re

ad
M

al
e 

th
re

ad M14 x 1 AL14 ZP3EA-YAL14 —

M16 x 1.5 AL16 — ZP3EA-YAL16

F
em

al
e 

th
re

ad M8 x 1.25 B8 ZP3EA-YB8 —

M12 x 1.75 B12 — ZP3EA-YB12

F�Mounting nut 
(Single unit)

M14 x 1 ZPNA-M14 —

M16 x 1.5 — RBQ16J

ZP3E-Y(32 to 50)(UM/BM)m-AL14
ZP3E-Y(63 to 125)(UM/BM)m-AL16

ZP3E-Y(32 to 50)(UM/BM)m-B8
ZP3E-Y(63 to 125)(UM/BM)m-B12

E�Female thread 
adapter

E�Male thread adapter
(With mounting nut)

DSet screw

CPlate

BHolder

ASeal washer

F

E

A

B

C

D

E

A

B

C

D

Adapter Assembly: Vacuum Inlet Direction Lateral  Y Type/ZP3E-Y

ZP3E - Y q w m - e

Pad diameter Connection thread (Male/Female thread)

Pad form Pad material

Mounting nut

239

High Rigidity Pad
Mounting Bracket Assembly  ZP3E Series

Standard Type

A



eBuffer stroke

ZP3E-T32UMN JB 10
ZP3EB-T1 JB 10

[Buffer assembly part number example]
Product part no.

Buffer assembly

Product 
part no.

Component 
parts

Symbol
qPad diameter symbol

32 40 50 63 80 100 125

ASeal washer
M10 x 1 ZP3EA-SW10 —

M16 x 1.5 — ZP3EA-SW16

BHolder

w
P

ad
 f

o
rm

Flat type with
groove UM

ZP3EA-H1A ZP3EA-H2A
ZP3EA-H3A ZP3EA-H4A ZP3EA-H5A

Bellows type with
ribs and groove BM ZP3EA-H3A ZP3EA-H4A ZP3EA-H5A ZP3EA-H6A

CPlate

Flat type with
groove UM

ZP3EA-P1 ZP3EA-P2
ZP3EA-P3 ZP3EA-P4 ZP3EA-P5

Bellows type with
ribs and groove BM ZP3EA-P3 ZP3EA-P4 ZP3EA-P5 ZP3EA-P6

DSet screw ZP3EA-A10 ZP3EA-A16

EBuffer assembly ZP3EB-(T/Y)1JBe ZP3EB-(T/Y)2JBe

F�Mounting nut 
(Single unit)

M18 x 1.5 NT-05 —

M22 x 1.5 — ZPNA-M22

ZP3E-T(32 to 125)(UM/BM)mJB(10 to 50) ZP3E-Y(32 to 125)(UM/BM)mJB(10 to 50)

EBuffer assembly
(Vacuum inlet: Lateral)
(With mounting nut)

EBuffer assembly
(Vacuum inlet: Vertical)
(With mounting nut)

DSet screw

CPlate

BHolder

ASeal washer

F

A

B

C

D

E

F

A

B

C

D

E

ZP3E - (T/Y) q w m JB  e

Pad diameter Buffer stroke

Pad form Pad material

Buffer Assembly: Vacuum Inlet Direction Vertical  T Type/ZP3E-T, Lateral  Y Type/ZP3E-Y

Mounting nut Mounting nut

240

High Rigidity Pad
Mounting Bracket Assembly  ZP3E Series

Standard Type

Z
P

3E
M

o
d

el
S

el
ec

ti
o

n
H

ig
h

 R
ig

id
it

y
F

la
t 

T
yp

e
w

it
h

 G
ro

o
ve

Ba
ll J

oin
t, F

lat
 Ty

pe
wi

th 
Gr

oo
ve

Be
llo

ws
 Ty

pe
wit

h R
ibs

 an
d G

roo
ve

Ba
ll J

oin
t, B

ello
ws

 Ty
pe

wit
h R

ibs
 an

d G
roo

ve
Co

ns
tru

ct
io

n
Pr

ec
au

tio
ns

M
o

u
n

ti
n

g
B

ra
ck

et
A

ss
em

b
ly

A


	Mounting Bracket Assembly



